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POLITICAL SCIENCE
Paper : POL0300104
( Perspectives on Public Administration )
Full Marks : 60
Time : 2'2 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x8=8

oo AT Aot Ses f

(a) Who of the following has been wrongly
listed as an advocate of the managerial
view regarding the nature of public
administration?

CIE-PFR 24P s sfRoemne
TReNT avel Ron o FRRRT peLe
feTe 91 (R ?

(i) Simon

KL
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(2) (3)
(i) Smithburg and Thompson | (c) The term ‘scientific management’ for the
Pl s oo : first time used by Max Weber / F. W.
(i) L. D. White Taylor / Vincent de Gournay / Louis
1. F. el }\ ‘Brandels. ,

(iv) Luther Gulick | | o T G
@R [ 9%, @S, GFew / et ft 9w R /

TR & : o425 @Ts IR TR |
( Choose the correct option ) 1 ( Choose the correct option )
(% Reeson R v ) : ( om Re=cs MR e )

(d) The word ‘promotion’ is derived from the
Latin word ‘promovere’.
‘Promotion (CWARS)’ *@6 ‘promovere
(CHTCATER)’ <A (ol =7a =1 SRR |

(b) Who of the following is regarded as the
father of Public Administration?

TR @R Ee-2Ps g Roreer siep

FNE?
(i) Dimock : ( Wr(ite Yesq;;‘ fg; ;
= A
=

(e) “Women have been hidden from

(i) L. D. White .
history.” This was said by Simone

. 8. Gy de Beauvoir / Sheila Rowbotham /
(i) Willoughby Mary Wollstonecraft.
Rl ‘R JEEN OFT TgRiR T TRV @y
(iv) Woodrow Wilson Sfe e B @ ReeRR / oF|y
Tear ST @R [/ IR CAEFTRED |
( Choose the correct option ) ( Choose the correct option )
( wm Remcs! MR Sftrea ) (o ReFich! MR ey )
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(5)

(4)
(/ What is meant by @BE’ in public 2. Answer the following questions (any siy :
2x6=12
management?
° wo 2PIARA S it (R Gl T) -
CIR-IRFIre ‘3E’q ¥ J@w 2
(a) Write two principles of human relation
theory.
TR 7o ©gT o1 A forT |

(g) There is provision for organization of

Public Service Commission in the Article
What is meant by ‘politics-adminis-

315 / 316 / 321 / 322 of the Indian (b)
Constitution. tration dichotomy’?
SO MRYFT 93¢ / ©56 / 03> / 03y M meﬁ_ﬁw’aqqﬁ?
SECERAS (PRI SIS 91279 Ry 1 C== |
Ch th " . (¢ Mention two obstacles of good
O ey o e governance.
3{-2piTe 751 1t Teerd I
: f per
(h) Which one of the following is not an (d) Mention two problems Of Personnel
aspect of overlapping feature of Riggs’ administration.
Prismatic Sala model? R P 51 S0 TEy A
?;%@FIZBI ﬁ::ﬁq@%ﬁ—w L2051 B TAT B (e) Write two merits of seniority principle.
o1 (IMBR ?
i W comdel ST 71 @ o |
(i) Nepotism / Few (ORF S
| (7 Write two differences between new

public management and nNewW public

(ii) Poly-communalism / IZ-STemIRzel
(i) Formalism / Wi<fe el

service approach.

ER-I@Fo WF T -y

(iv) Poly-normativism / I -RAZer —_—
( Choose the correct option )
( = Rt TR Sferear ) 3T o1 *nefe ford |
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(6)

{g) Write two human aspects of scientific
management.

(I TJIRPFR o1 T el Forsit o

(h) What is new public administration?
TP TR -2PIP %2

() Write two  similarities between
public administration and private
administration.

PR PP HF ([FEIFR LAY &S 49
o1 P o |

() Mention two aspects of Max Weber’s
bureaucratic theory.

@ @@ AT o9 B fer S
e

3. Write short notes on the following (any foun :

5x4=20
TS AT eve 59 Gt v (R e wifRGY)

(@) Neutrality in public service
-GS fRacerwel

(b) Evaluation of scientific management
theory

(Tef AT ©gT e

( Continued }

(©)

(d)

(e)

@)

()
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(7))

Feminism in public administration

CNF-2P® TIW

Importance of public administration in
modern State

T TS G-I 9T

Disadvantages of indirect method of
recruitment

Differences between integral and
managerial views of public
administration

- SR R W ARvEER
7RSI Ae@ NIFPHR

Features of good governance

-2MP (IRBPTR

Henri Fayol’s classical theory
TR (TR oA OF

(Turmn Oyey )




(8)

4. Answer the following questions (any two) :
: 10x2=20
SO ePICAIRT e T (R e o)

(a) What is public administration? Discuss
its growth and evolution as a discipline.
2+8=10

EE-PE 7 S Rew Ror TR
TeoifS w1 Rery sticas=n 3947 |

(b) Critically evaluate the human relation
theory.

RS o SGBR TCAGAST T 1 |
(c) What is training? What are its kinds?
Discuss any one of it. 2+2+6=10

gt 0 TWe ez B R TR R
I GOR Reca Sces=n <441 |

(d) What is new public management?
Discuss its salient features. 2+8=10

T ERAReE [ WR O SEann
CAMBPTIR ST 41 |

(e) Evaluate the ecological approach of Fred
Riggs.

@G a1 “ifceiore RS FIrm 1 |

* %k %
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